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Want to treat  "this is a phrase"  with characters like "th" "is" " i" "s " ... etc
wi th (S t r ingToo ls ) :
Alphabet:=c a t ( " \ n \ t " , S e l e c t ( I s P r i n t a b l e ,c o n v e r t ( [ s e q ( i ,  i = 1 . . 2 5 5 )
] ,  b y t e s ) ) ) :
p:=length(Alphabet) ;

S t r i n g T o L i s t  : =  p r o c  ( t e x t : : s t r i n g )  
l o c a l  i ;  
g loba l  A lphabet ;  
[ s e q ( S e a r c h T e x t ( t e x t [ i ] ,  A l p h a b e t ) - 1 ,  i  =  1  . .  l e n g t h ( t e x t ) ) ] ;
end proc:

L i s t T o S t r i n g  : =  p r o c  ( n u m l i s t : : ( l i s t ( n o n n e g i n t ) ) )
 l o c a l  i ;
 g loba l  A lphabet ;
 c a t ( s e q ( A l p h a b e t [ n u m l i s t [ i ] + 1 ] ,  i  =  1  . .  n o p s ( n u m l i s t ) ) )
 end  proc:
S t r i n g T o V e c t : = p r o c (  t : : s t r i n g ,  n : : p o s i n t )
  l o c a l  L ,  s ;
  s : = t ;
  w h i l e  (  m o d p ( l e n g t h ( s ) , n )  < >  0 )  d o
       s : = c a t ( s , " X " ) ;
  o d ;
  L : = S t r i n g T o L i s t ( s ) ;
  [ s e q ( < s e q ( L [ i + j ] ,  j = 0 . . n - 1 ) > ,  i = 1 . . n o p s ( L ) - 1 , n ) ] ;
end:
V e c t T o S t r i n g : = p r o c (  v l i s t  )
  L i s t T o S t r i n g ( m a p ( x - > o p ( c o n v e r t ( x , l i s t ) ) , v l i s t ) )
end:
A f f i n e M a t C r y p t : =  p r o c ( t e x t : : s t r i n g ,  A : : M a t r i x ,  b : : V e c t o r )
  l o c a l  v , n ;
  n :=Dimension(A) [1 ] ;
  v : = S t r i n g T o V e c t ( t e x t , n ) ;
  V e c t T o S t r i n g ( [ s e q (  m o d p ( A . v [ i ] + b , p ) ,  i = 1 . . n o p s ( v ) ) ] ) ;
end:
A f f ineMatDecryp t :=  p roc ( tex t : : s t r ing ,  A : :Ma t r i x ,  b : :Vec to r )
  l o c a l  v , n ;
  n :=Dimension(A) [1 ] ;
  v : = S t r i n g T o V e c t ( t e x t , n ) ;
  V e c t T o S t r i n g ( [ s e q (  m o d p ( A ^ ( - 1 ) . ( v [ i ] - b ) , p ) ,  i = 1 . . n o p s ( v ) ) ] ) ;
end:

writing   1065  means 1*1000 + 0*100+6*10 + 5*1.

write 5 in binary.

1*2^0 +  0*2^1 + 1*2^2 === 101 (binary)
c o n v e r t ( 5 ,  b i n a r y ) ;
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101
c o n v e r t ( 1 3 ,  b i n a r y ) ;

1101
convert(5,hexadecimal);

5
convert(17,hexadecimal);

11
convert(13,hexadecimal);

D
convert(1234,hexadecimal);

4D2
c o n v e r t ( 1 0 ,  b a s e ,  4 ) ;

convention in maple is backwards:
c o n v e r t ( 1 1 ,  b a s e ,  4 ) ;

conver t (1234 ,  base ,  16 ) ;

c o n v e r t ( [ 2 , 1 3 , 4 ] ,  b a s e ,  1 6 ,  1 0 ) ;

S t r i n g T o L i s t ( " f o u r " ) ;

[72+97*81,  87+84*97] ;

97*97 ;
9409

Str ingToDigraph:=proc(s: :str ing)
  l o c a l  l , i ;
  l : = S t r i n g T o L i s t ( s ) ;
  i f  ( n o p s ( l )  m o d  2  < > 0 )  t h e n
    l : = [ o p ( l ) , 0 ] ;
  f i :
  [ s e q (  l [ i ] + l [ i + 1 ] * 9 7 , i = 1 . . n o p s ( l ) ,  2 ) ] ;
end:
Str ingToDigraph("four") ;

St r ingToDigraph(" f iver" ) ;

S t r i n g T o L i s t ( " f i v e r " ) ;

c o n v e r t ( S t r i n g T o L i s t ( " f i v e r " ) ,  b a s e ,  p ,  p ^ 2 ) ;

c o n v e r t ( S t r i n g T o L i s t ( " f i v e r " ) ,  b a s e ,  p ,  p ^ 3 ) ;

c 3 : = c o n v e r t ( S t r i n g T o L i s t ( " f i v e r " ) ,  b a s e ,  p ,  p ^ 3 ) ;
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L is tToStr ing(conver t (c3 ,base,p^3,p) ) ;
"fiver"

nextprime(12345678901234567890);
12345678901234567891

isprime(12345678111);
false

i factor (12345678111) ;

isprime
(12345678111111111111111111111111111111111111111111111111111111111
1111111111444444444444444444441);

false
i f a c t o r
(12345678111111111111111111111111111111111111111111111111111111111
1111111111444444444444444444441);

W a r n i n g ,   c o m p u t a t i o n  i n t e r r u p t e d
p r : = 1 7 ;

1234^16 mod 17;
1

Fermat's Little Theorem:   for any prime p  and any  which is not a multiple of p,  

f o r  i  f r o m  1  t o  5 0  d o
  p r i n t ( i , m o d p ( i ^ ( p r - 1 ) ,  p r ) ) ;
od;
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